
Maths Assignment.                
Class-2                                   
Chapter: Division (Revision) 
Solve the following word problems. 

Example: 968 apples are packed equally in 8 boxes. How many apples are there in 

each box?. 

No. of apples in 8 boxes = 968.                                        

Total no. of apples in 1 box= 968 ÷ 8 = 121 

 

Therefore, 121 apples are there in each box.       

Q1. 680 candles are packed equally in 10 packets. How many candles are there in each 

packet? 

Q2. 495 students are there in school. There are 5 classes. How many students are there 

in each class? 

Q3. A shopkeeper sold 90 books in 6 days. How many books did he sell in 1 day? 


